£/ TgE| (A3 i i1 X [H 2 i ik FriFEpTHLX T
k1269 7 181 [ 1 T BN IR R HEIT R BALR |91 7/ D4 BERAMECKHITEAR=TH |1%25
k1269 7 181 | 1 T BN IR R HEIT KRB A LR |896F D2 B ERAMECKHITEARL=TH |1%&10%
Tk126e9 A 181 [ 1 T BN FRIAR R HERT R |896% BERAMEKHITEAR=TH |1%215
k1269 A 181 [ 1 T BN FRIAR R HEIT R ALR |895% B ERAMEKHITEAR=TH |15%22%
k1269 7 181 1 RO FRTAR R AT KFBAR 911/ D1 BERAMECKHITEAR=TH |2%&75
k1269 A 181 | 1 T BN FRIAR R HERT R BALR |209% B ERAMEKHITEAR=TH |3%&13%
k1269 A 18 H 1 T RO FRTAR R R KB AR |933F D1 BERAMEKHITEAR=TH |3%&14%
k1269 A 181 | 1 T BN FRIAR R HEIT R ALR |938% BERAMESKHITEAR=TH |3%&175
k1269 A 181 | 1 T BN FRIAR R HEIT R |938% BERAMEKHITEARL =T H |3%28%
Tk126e9 A 181 | 1 T BN FRIAR R HERT R AR |902% BERAMEKHITEAR=TH |3%475
Trk126p9 A 18 H | 1 T BN TR R HERT R ALR (9025 BERAMECKHAITEAR =T H |3%48%
124897 18 A | By IR AR A AT R F-8BAMA [901F D1 M=t a—R 5 U A BERAMERKHITEAR =T HE |3%495
k1269 A 18 H 1 T BN FRTAR R AT KPR AR |901F D1 AT 4T AR ] B ERAMBRHAIBAR=TH (3495
k1269 A 18 F 1 T BN FRTAR R HERT KB AR |901FHD6 B ERAMECKHITEAR=TH |3%&50%
k1269 7 18 F 1 T BN FRTAR R BT KB AR |901 /D8 BERAMECKHITEAR=TH |3%&515
k1269 A 18 H [ 1 T BN FRIAR R HERT KRB AR |900F D2 BERAMECKHITEAR=TH |3%&52%
Trk126p9 A 18 H | 1 T BN FRIAR R HEIT R ALR |898F M BEREAMECKHITEAR=TH |3%&54%
Trk126p9 A 18 H [ 1 T BN FRIAR R HERT R BALR |898F D2 BEREAMECKHITEAR=TH |3%&54%
Trk126p9 A 18 A [ 1 T RN FRIAR R HERT R -8 ALR |899% M B ERAMBKRHAITBAR=TH [3%F59%
Trk126p9 A 18 A 1 T RN FRIAR R HERT R -8 ALR |897 5 B ERAMBKRHAITBASR =T H [3F64%
T126p9 A 18 A 1 T RO FETAR R AT KB AR 9117 D1 B ERAMBKRHAITBAMR=TH [3F75%
Tk126p9 A 18 A [ 1 T RN FRI AR R HERT R -8 ALR (9095 M U = — /L KR B ERAMBKRHAITBAR=TH [3F76%
Tk126p9 A 18 A [ 1 T RN FRI AR R HERT R =@ ALR (9095 M B ERAMBKRHAITBAR=TH [3F76%
Tk126p9 A 18 A 1 T RO FETAR R BT KB AR |910F D3 B ERAMBKRHAITBASR=TH [3F775
T126p9 7 18 A 1 T RO FETAR R BT KB AR |910F D3 B ERAMBKRHAITBAR =T H [3F78%
Tk126p9 A 18 A 1 T RN TR R HERT R BALR |960F D2 B ERAMBKRHATAAR=TH [56&3%
k124297 18 A | 1 T IR I RR R FRHT R F-8AR [965F D1 B ERAMBKRHAITAAR=TH (545
k124897 18 A | 1 T IR BB R FEHT R F8A R 9627 BHa—=R B ERAMBKRHATBAR=TH [5%&5%
1269 1 181 1 R AR AR R BT R BALR |962F M1 EHa—R B ERAMBKRHATABAR=ZTH [5%5%
Trk126p9 A 18 A [ 1 T BRI AR R HERT R F-E8ALR 19645 B ERAMBKRHAITBAR=ZTH [5F12%
Tr126p9 A 18 A [ 1 T RO FI AR R HERT R F-E8ALR (9665 B ERAMBKRHAITBAR=ZTH [56F21%
Tk126p9 A 18 A [ 1 T BN R AR R HERT R F-8ALR (9655 B ERAMBRHAITBAR =T H |5F22%
k12489 18 A | 1 T IR N VBB R FRHT K-8/ R |958% D2 TN SLHE HERAMEKHITAAR=EZTH [6%24—000%




£/ TgE| (A3 i i1 X [H 2 i ik FriFEpTHLX T

k1269 7181 1 T RO FRTAR R I RF AR |939F D1 B ERAMECKRHITEAR =T H |5%&28%
k1269 7 181 1 T RO FRTAR R HERT KRB AR |939F D5 B ERAMECKRHITEARL =T H |5%&35%
k1269 A 18 H 1 T RO FRTAR R FERT KB AR |939F D6 B EREAMECKHITEAR=TH |5%&36%
k1269 7 18 H [ 1 T RO FRTAR R IERT KB AR |939F D7 BERAMECKHITEAR=TH |5%&37%
k1269 A 18 H 1 T SR FRTAR R HERT KB AR |939F D8 BERAMESKHITEAR=TH |5%&37%
k1269 7 18 H [ 1 T RO FRTAR R HERT KB AR |939F D3 B ERAMECKRHITEAR=TH |5%&39%
k1269 A 18 H [ 1 T RN FRTAR R FERT R BAR |940FHD6 TN AR— 1R | B ERAMB KA AL =TH [6%&43%
k1269 7 18 H 1 T RO FRTAR R R KB A R |958F D1 B ERAMECKHAITEALR =T H |5%&45%
Trk126p9 A 181 [ 1 T BN FRIAR R HEIT R BALR |968% BERAMECKHITEAR=TH |6%&25

Trk126p9 A 18 H | 1 T BN FRIAR R HEIT RSB AR |978F D54 BERAMEKHITEAR=TH |6%&35

1269 A 18 F 1 T BN FRTAR R HEIT KA R |978F D51 BERAMEKHITEAR=TH |6%45

Trk126e9 A 18 H [ 1 T BN FRIAR R HERT R AR |978% BERAMECKHITEAR=TH |6%&55

Trk126p9 A 18 H | 1 T BN TR AR R HEIT KRB AR |978F D53 BEREAMECKHITEAR=TH |6%6%5

k1269 A 18 H 1 T BN FRIAR R HERT R BALR |978% BERAMESKHITEAR=TH |65%&75

k1269 A 18 H [ 1 T BN FRIAR R FERT KB AR |978F D56 BERAMEKHITEAR=TH |6%&85

Trk126p9 A 18 H | 1 T BN TR AR R HEIT KRB AR |978F D57 BERAMECKHITEAR=TH |6%&95

Trk126p9 A 18 H | 1 T BN FRIAR R HEIT KRB ALR |978F D63 BERAMECKHITEAR=TH |6%&95

Trk126p9 A 18 H | 1 T BN FRIAR R HERT R BALR |978% HERBAMEKHITEAR=ZTH [6F115
Trk126p9 A 18 A | 1 T BN TR R HERT R =@ ALR |978F D64 B ERAMBKRHAITBAR=TH [6F12%
Tr126p9 A 18 A 1 T BRI AR R HERT R =@ ALR |978F D65 B ERAMBKRHAITBAR=TH (657145
T126p9 A 18 A 1 T BN PRI AR R BT KB AR |978F D71 B ERAMBKRHAITBAR=TH (657145
Trk126p9 A 18 A [ 1 T BN FRI AR R HERT R ALR |978% M B ERAMBKRHAITBAR=TH [6F15%
Tk126p9 A 18 A 1 T BN TR R HERT R ALR |978F D68 B ERAMBKRHAITBAR=TH [6F167%
Trk126p9 A 18 A 1 T BN TR AR R HERT R ALR |978F D69 B ERAMBKRHAITBAR=TH [6F167%
Trk126p9 A 18 A [ 1 T BN PRI AR R HERT R ALR |978F D67 B ERAMBKRHAITBAR=TH [6F175
T126p9 A 18 A 1 T RO FRTAR R BT KA R |978F D66 B ERAMBKRHATBAR=TH [6F19%
k124897 18 A | 1 T IR I RR R FRHT R F8AMR [977& D1 B ERAMBRHAITBAR =T H (657205
k124897 18 A | 1 IR I RR R FRHT R F8AMR (97 7&K D4 B ERAMBKRHAITBAR =T H (65225
k12489 18 A | 1 T IR BB R FEHT KR8 977 D5 B ERAMBKRHAITBAR =T H (657235
k12489 18 A | 13 T IR BB R FEHT R F8A R [980F D10 B ERAMBKRHAITBAR =T H (657245
Trk126p9 A 18 A [ 1 T BRI AR R HERT R -8 ALR (983 % B ERAMBKRHAITBAR=TH [65F30%
Tr126p9 A 18 A [ 1 T BN R AR R HERT R F-@ALR |982%: B ERAMEKRHAITBAR=TH [65F33%
Trk126p9 A 18 A [ 1 T BRI AR R HERT R F-@ALR |96 75 B ERAMBKRHAITBAR =T H (657375




£/ TgE| (A3 i i1 X [H 2 i ik FriFEpTHLX T
Tk126e9 7 1811 | 1 T BN FRIBAR R HEIT R BALR |96 75 H B ERAMECKRHITEARL =T H |6%40%
k1269 7 181 1 T RO FRTAR R FERT KRB AR |968F D3 B ERAMECKRHITRAR=TH |6%41%5
124897 18 A | By IR AR R AT R F-8AR |978%F D33 BERAMESRKHITRBAR =T H |7&25
k1269 A 181 | 1 T BN TR AR R HEIT KRB ALR |978F D60 BERAMECKHITEAR=TH |7%&35
k1269 A 18 H 1 T BN FRTAR R IR KB AR |978F D61 B ERAMECKHITRAR=TH |7%45
Fr124£9 A 18 A |y IR BB AR AT R F-8AR |978F D59 BERAMBESRKHITRBAR=TH |7%&65
Trk126p9 A 181 [ 1 T VRN FRIAR R HERT R AR |978% B ERAMECKHITRAR=TH |7%8%5
k1269 A 18 1 | 1 T BN FRIAR R HEIT KRB |978F D24 BERAMECKHITEAR=TH |7%&9%5
k1269 A 181 | 1 T BN FRIAR R HERT KRB AR |990F D4 BERAMEKHITRAR=TH |8%35
k1269 A 18 H | 1 T BN FRIAR R HEIT KRB ALR |990F D10 BERAMECKHITEAR=TH |8%45
k1269 A 18 F 1 T BN FRTAR R FERT K BAR |990F D9 BEREAMECKHITRAR=TH |8%&55
Trk126p9 A 18 H | 1 T BN FRIAR R HEIT R BALR |990F D14 BERAMECKHITEAR=TH |8%6%5
Trk126p9 A 18 H | 1 T BN FRIAR R HEIT KRB ALR |990F D12 BERAMECKHITRAR=TH |8%&75
Trk126p9 A 18 H | 1 T BN FRIAR R FHEIT KRB ALR |990F D13 BERAMECKHITEAR=TH |8%&75
Trk126p9 A 18 F 1 T BN FRTAR R HEIT KB AR |990F D11 BERAMECKHITEAR=TH |8%8E
T126p9 A 18 H 1 T BN FRTAR R FEIT KRB AR |990F D16 BERAMECKHITEAR=TH |8%&95
Trk126p9 A 18 H | 1 T BN FRIAR R FHEIT KRB AR |990F D17 BERAMECKHITEAR=TH |8%&10%
Trk126p9 A 18 H | 1 T BN FRIAR R HERT R BALR |993F D2 BERAMECKHITEAR=TH |8%13%
Trk126p9 A 18 A 1 T ORI AR R HERT R =@ ALR |993% B ERAMBKRHAITBAR =T H [8%F20%
T126p9 A 18 A 1 T RO FETAR R BT KB A R |990F D8 AT R A 4G [ T B ERAMBSKRHATAAR=TH [8%22—000%
Tk126p9 A 18 A 1 T BRI AR R HERT R BALR 1991 D2 B ERAMBRHAITBAR =T H [8%F26%
T126p9 A 18 A 1 T RO PRI AR R BT KB AR |991F D3 B ERAMBKRHAITBAR=TH [8F275
Tk126p9 7 18 A 1 T RO PRI AR R BT KA R |986F D1 B ERAMBRHAITBAR =T H [8%F28%
Tk126p9 A 18 A 1 T RO TR R FHERT R BALR |986F D2 B ERAMBRHAITBAR =T H [8%F29%
Tk126p9 A 18 A 1 T RN FRIAR R HERT R -8 ALR |985% B ERAMBRHAITBAMSR =T H [8%F32%
T126p9 A 18 A 1 T RO PRI AR R BT KB AR (987 /D1 RUA N YL H B ERAMBKRHAITBAR=TH [8F37%
k124897 18 A | 1 T IR N VBB R FRHT R F-8/A R |988F D5 B ERAMBRHAITBAR =T H [8F40%5
k124897 18 A | 1 IR I RR R FRHT K-8 AR [988%F D4 B ERAMBKRHAITBAR =T H [8F415
Trk126p9 A 18 A [ 1 T BRI AR R HERT R @ALR |11 75 B ERAMBCKRHATBAR=ZTH [9%25
Tk126p9 A 18 A [ 1 T BRI AR R HERT R @ALR 1145 B ERAMBCKRHITBAR=TH [9%5%
k124897 18 A | 15 T RN R RR R FRHT R F8A R [113%F D2 B ERAMBKRHAITBAR=ZTH [9F10%
k124897 18 A | 1 T IR I RR R FRHT R F8AR [118%F i1 B ERAMBKRHAITBAR =T H [10%E45
k124897 18 A | 1 T IR BB R FRHT R F8A R (1215 D2 HERAMECKIATEAR=TH [10&115
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k1269 7 181 1 T BN FRIAR R HEIT RF-BALR |119F D2 B ERAMECKRIATEAR=TH |10%167%5
Fr12¢£9 7 18 A | By IR BB AR FHAT R F-8BAR [198% BERABERHITRAL=ZTHE [11%F15
k1269 7 18 H 1 T RO FRTAR R AT KFBAR |191F D1 BERAMEKHITEAR=TH |11%45
124697 18 A | By IR BB R AT R F-8BAMR (1925 BERAMERKHITRAR=ZTH |11F115
k1269 A 180 [ 1 T BN FRIAR R HERT R BALR |186F D2 B ERAMEKRIATBAR=TH |11%345
F124£9 A 18 A | By IR BB R AT R F-8BAR (1935 BERAMESRKHITRBAR=TH |11%&375
124797 18 A | By IR ERR AT R F8BAMR (1975 H BERAMESKHITRAR=TH |11%405
Tk126e9 A 181 [ 1 T SR ONFRIAR R HERT R 2055 HERAMEKHITAAR=TH (1215
k1269 A 18 H 1 RO FRTAR R AT KFBAR |204FHD 1 B ERAMEKHITEAR=TH |12%3%
k1269 A 181 [ 1 T SR ONFRIAR R HERT R 2035 HERAMEKHITEAR=TH [12F65
Trk126p9 A 18 F 1 T BN FRTAR R BT KB AR |202F D5 BERAMEKIATBAR=TH (12%&145
1269 A 18 H 1 T BN FRTAR R FERT KB AR |202FH10D6 BERAMECKIATBAR=TH (12%&145
Trk126p9 A 18 H [ 1 T BN TR AR R FERT R BALR |202F D7 BERAMECKIATBAR=TH |12%&155
k1269 A 18 F 1 T BN FRTAR R FERT KB AR |202F #1008 BERAMECKIATBAR=TH |12%&155
Trk126p9 A 18 F [ 1 T BN FRTAR R BT KB AR |202F #1009 BERAMECKIATBAR=TH |12%&165
Trk126p9 A 18 H | 1 T BN TR AR R FHEIT KRB ALR |202F D10 BERAMECKIATBAR=TH (12&175
Trk126p9 A 18 H 1 T BN FRIAR R HERT R AR 2025 HERBAMEKHITAAR=TH [12&18%
Trk126p9 A 18 H | 1 T BN FRIAR R HEIT KRB AR |202F D12 BERAMECKIATBAR=TH [12%&195
Trk126p9 A 18 A 1 T BN TR AR R HERT R ALR |202F D13 B ERAMBKRHAITBAR=TH [12%&20%
Trk126p9 A 18 A [ 1 T R ORI AR R HERT R =@ ALR 12005 H B ERAMBKRHATAAR=TH [12%&21%
Trk126p9 A 18 A 1 T RN FRIAR R HERT R 8ALR 12005 H B ERAMBKRATBAR=TH [12%&22%
T126p9 A 18 A 1 T RO PRI AR R AT KB AR [199F D1 B ERAMBKRHAITBAR =T H [12%&24%
T126p9 A 18 A 1 T RO FETAR R BT KB AR |235FHD3 B ERAMBKRHAITBAR=TH [12%36%
Trk126p9 A 18 A 1 T R ORI AR R HERT R -8 A R 2355 B ERAMBKRHAITBAR=TH [12%&37%
Trk126p9 A 18 A 1 T RN FRIAR R HERT R @ALR 12015 B ERAMBKRAITBAR=TH [12%38%
Tk126p9 A 18 A [ 1 T BRI AR R HERT R BALR 226K D2 B ERAMBKRHAITABAR=TH [12%46%
k124897 18 A | 1 T IR BB R FEHT R F8AR 224 % D2 B ERAMBKRHAITBAR=TH [12%50%
k124897 18 A | 1 T IR BB R FEHT K F8A R [2095H B ERAMBKRHAITBAR=TH [13%35
k124897 18 A | 1 T IR N VBB R FRHT R F8A R [208% D2 B ERAMBRHAITBAR=TH [13%5%
k124897 18 A | 1 T IR N VBB R FRHT R F8A R [208% D2 B ERAMBKRHAITBAR=ZTH [13%6%
k124897 18 A | 15 T IR BB R FEHT R F8AR 2078 D2 B ERAMBRHITBAR=TH [13%8%
Trk126p9 A 18 A [ 1 T SRR AR R HERT R F-@ALR 12075 H B ERAMBKRHAITBAR=TH [13%10%
k124897 18 A | 1 T RN I RR R FRHT R F8AMR (2078 D1 B ERAMBKRHAITBAR=TH [13%10%
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k1269 7 181 1 T RN FRTAR R AT R BA R |206F #1003 FEL T A BERAMECKHATEAR=TH [13&115
k1269 7 181 | 1 T BN IR R HEIT RF-BALR 206K HiD4 hEL YT ABif B ERAMECKRHATEBAR=TH [13&115
k1269 A 181 | 1 T BN FRIAR R HEIT R BALR |206%H BERAMEKRIATEBAR=TH |13%&125
k1269 A 181 1 RO FRTAR R HERT KPR AR |223F D1 BERAMECKRIATBAR=TH |13%&275
k1269 A 181 [ 1 T SR ONFRIAR R HERT R (2215 B ERAMEKRIATBAR=TH |13%&315
k1269 A 18 H 1 T RO FRTAR R FERT KRB AR |421FHD3 B ERAMEKIATBAR=TH |13%36%5
k1269 A 181 [ 1 T BN FRIAR R HEIT R BALR 2105 BERAMEKIATEAR=TH |13%45%5




